> A
N e N o l2 )N —

=

1
E)(auw'),L ‘zﬁ—— z7?
I 2 )

('DA )Ukl ) 7/‘))0@ 2 Aks ’?ﬁkz J i""bAﬁé

= S,'K%mz AMJ +AIW\ SMK SJ,Z = ‘Si/<'4£j+ﬁfk %JZ

’DA([

DA }KB T Dbk ®iSig = g




21,

Pfoblesm =2

3,2 ) (trea)) y tr(4%)

21, w @A)
DA ’LL r(4) ~A
('D 2’,(,42) ) - R (Aim Am()
A k4 2 Pre

ERAP Y Y
A

21 T
=> PDA‘_—tr(A)I-};x 2h’ -

=)

trd)T-A'






ckapz;erZ, Araly s of Kinematic  problem

t=t

)(3»';(( 3

> - AL . v o
xz)xz Z,-- thd Current /’05/2"/0/) 07[/70)/)3" P
s T}p( )n}z‘l'al /)ofx'i’inn of /ojnr g
X.J’(\

d’“’,r’-‘CJL)//)-‘(‘ F
ol = 2% oy X oy 2% A, oAy A
2X, 'AX, ';xg

2% K I, JJX'
2 - =[(2%. dAa ')ﬂ;
0{7(2_-&0()( +’9Xz 0/)(; ’3}(2_0/)(3 Dt WK, Wy X lj);z
N7 'aﬂl 7)(?_ 3
o 4y = 20 ol + 222k, & ,_in Y, oK, K0




- 2, b .\
oo FU:__‘_ (JA—’_S.’JQ_LJ')/_)*‘\’

A% = F. ol X, (ot} = G {oly)

S I \F q;ﬁ'/}

%2 /—F\) 9(, = ‘;‘.le__ )(z
ExaMf'& T ”
be ?(Z: ?.f-_zgT X")ZXZ




'3 dx‘@"i oy = 22 ol

tt NI
pim wa
* )oLo K (')—-n l.Z)_a Uj_,
)(| 0( st @J;(.Q) (-?G[‘\;L—‘ (619{1 8,‘)- (417\/] ﬁJ Xa/{é/'r)
3 xtd*l 0(,{((7-) J ;1
Xl D[‘V :J D{%\Lo
B s [?(.P“// ~_ :_J)j‘,:?

73 A
Pl Sl B2 s Ao T

= = F i ¢ or Volume- reserjve
3—\}:\:\ > Fisochar @ﬁ,f,



Nan Soft fofmulu
dv=Jdv —, 04—0\)-0!—7;:]0”-0“
do. Fd £ = JdA-olX

TA’.Z-":‘Z;(T &b
s — T —
dotl=1F dam -, odo-(1F 7
USSR
,-/L/”[
Co S 1. ;ﬁ_;ISF.T—rT:l Grea change
A

C’Q”c’/::”

OH‘: F-OTf)\ =2 Al ﬁo: F-JXWQ



—
hatn

-|Fr|

Stretch




